(«g.’ﬁ!: APITVr™y Vet LY
»3NE -:_'.‘y~ 2 4 S 5 "., 5 5%
FIWE I b b ‘l';‘l\:g!

Y s e f i ANRULFAY
{ Fll ol " 3T

T A HATTH! TE T GIeiaht @Wieid &t 7 gl TIY ad s T Giet

gy & +ft. #.. KLFG-U-VBY rveon gfETeRT SE
1000401 4
ra——
P ki : : : 300
EEEN

10.
11.

T U EH & g 918, 3T 39 Udieror gieret Y ugdaret orava @ o foh gEd g famr wun, wer @
LT EHT Y3 e 0w, 1fe 7 ¥ | A T @, A 3@ e wivaror yhewen & wger it |

FUAT 24 @ 6 OMR IW-uah ®, 3fea Tm W, At Trr 3R udieror gitaest o A, B, C a1 D
@, e | v fon foredt 9 o fommfe & o ot emg e fr R sufigan 6 2 | R oft
&R Fit g /faemfa 6 feafa # sw-ases frea o fean smom
39 wteror gfte T Ty A U T Hises S ST
AT fora B | W g w s ge 7 fog |

30 vieur gitaeset § 150 gww (999) fou mu ¥ |y weiw R ofk ol 91 H BW R | s Wiy

. ER YW (IW) fGu mu # | 7 ¥ v g B g9 o, 98 319 IR-we © sifhd S = € | Al st

T o 6 U § e yoge wdl €, A 3u Uy R sifhd i S STyl e @ | TS T % R
FaeT U i TG G R |

YT 379 Tt TR 3T A fIu U Iw-wEE W FF siferd e § | Sows o fRw e fdw 3fRau |

YT T % 3H THHE E | :

o8 TES 5 T waw g F R e F e SO Wik HE1 U W, S 54w
THIOL-9F % T AT ST S IR F9 foewor IoR-wreh # A |

MY A Tt IR H IH-TF T W F qE a0 TEN F TN R FAeT I-TFSH AeheE F 49 3 |
9! 379 T wher gferen & S Y rEfa R |

F= HW & T 1= ThE gieqst & ofq § ger § |

e I ¥ FI o sie TE R | |

39 The gfcsm § T AT § | W A e arga iR gfgmm S v A R ol s 75w € wm B
Ffves wtwret & fowg & 2 fed 75 w97 € 1 37 oft 150 vt & s feg o # )

T AH HATTH! Tg T GIaaht Qici &1 7 BT AT a7 & 7 Gied

Note : English version of the instructions is printed on the back cover of this Booklet.

KLFG-U-VBY (1-A)



KLFG-U-VBY

HTT A

[T FrEt AR gfgamn

. TR god (W) Frefafeaa § @ fea 2w o
fRmg e

(a) STHIET

(b) Tl :

(c) HY® WE 37NE (F.ug.)

@ ™

SFRTUMET 2011 % R, fefafea & @ fFaa
SHEE 6l I=AH A (2001 — 11) g X
oS R 2

(a) TS

(b) ITETEA WQ

(¢ 9gaf

(d) T IR TR TR

gt I A g 1% iy gafaa i el

i % = fou MU He T W aE W

g I gl

(77 @) &)
A. HhIH v&q 1. gl
B. ®NERAUEd 2 i@
c. i wdad 3. Sferm
p. fieawda 4. T
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A B C D
(a) 3 4 1 2
(b) 3 1 4 2
(©)ii2 1 4 3
d 2 4 1 3
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(2-A)

2q faft Iva fafafaa 4 @ oo stem @
 £4

(a) wﬁﬁwaﬂt%ﬁaﬁﬁw

(b) foafes eam 3k fiea sfeam

(c) R Fpiew 3k fofee sfeam

@) fafea steam 3t ¥z fwEr

3 # gedt @ o fore fr=foafea & @ foa
Tq I Tt < @1y fafda femen smar @ 2

(a) HTS

(b) H¥H

(e) Q’@ﬁﬁ'ﬂ'ﬂ

(d) dF

frafafga & @ fog vme 8, wd & I=aH
e 3 Afufig fen % wra & d@fqum
=G 356 % N Tgufa SmEa i IgEmon
=iy qAfdetie & e & 2

(a) .. MU SHM HgE T

(b) TH.3R. A 3R 3= 91 WRd 99
(¢) HYE Td §919 9Rd |9

(d) TEH. T S WRA 99

S8 5 wE I R, AoAeg fasm @ g

frfefiaa @ @ fepaes Ty TRY g7 o1 ?

(a) 1945 ¥ TH.WA. ¥ g d9R hl T8 SH
A1 (fiuew M)

(b) 1944 H F.JINE. @ AR 3 g0 TR
i TE S AT (ST W)

(¢) 1944 ¥ TH.UH. 3WETA gRI ¥R H T8
Tiefiardt s

(d) 1951 ¥ JaTeET E® g A geasia
ST



1. In which one of the following countries is
Chabahar Port located ?
(a) Afghanistan
(b) Turkey >
(c) UAE
(d) Iran
2.  Which one of the following has recorded the
highest decadal (2001 -11) growth rate of
population as per Census 2011 ?
(a) - Rajasthan
(b)  Arunachal Pradesh
(¢) Puducherry
(d) Dadra and Nagar Haveli
3.  Match List I with List IT and select the correct
answer using the code given below the Lists :-
List I List IT
(Mountain range) (Country)
A. Caucasus Mountains 1. Italy
B. Carpathian Mountains 2. Greece
C. Apennine Mountains 3. Georgia
D. Pindus Mountains 4. Ukraine
Code :
A B C D
(a 3 4 1 2
(b) 3 1 4 2
e 2 1 4 3
@ 2 4 1 3
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PART A

GENERAL ABILITY AND INTELLIGENCE

4.

(3-A)

Which one of the following are separated by
Ten Degree channel ? :

(a) Car Nicobar and Little Nicobar

(b) Little Andaman and Middle Andaman
(c) Car Nicobar and Little Andaman

(d) Little Andaman and Great Nicobar

Which one of the following metals is
mixed with gold to provide strength to the
jewellery ? '

(a) Manganese

(b) Mica

(¢) Aluminium

(d) - Copper

In which one of the following cases did the
Supreme Court of India adjudge that the
proclamation of the President’s Rule under
Article 356 of the Constitution of India is
subject to judicial review ?

(a) AXK. Gopalan vs. State of Madras

(b) S.R. Bommai and Others vs. Union of
India

(¢) Madhav Rao vs. Union of India

(d). 8P, Gupta vs, Unibii § Tudia

The era of planned development is said to
have begun with which of the following ?

(a) The People’s Plan prepared by M.N. Roy
in 1945

(b) The Bombay Plan prepared by
J.R.D. Tata and Others in 1944

(0 The Gandhian Plan prepared by
S.N. Agarwal in 1944

(d) Five-Year Plan presented by Jawaharlal
"Nehru in 1951
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frfafad & @ wra & Patea s & w™

o = Wik 787 8 2

(a) GHe IR TSy faymsAsal = et
HEHE

(b) %&ﬁmaﬁﬁaﬁaamm?ﬁéaﬁlm%
HR 1 g HET, W & K fRE
T

(c) Usgafd 3R Iuasgufa & wa & fog
Fratem wEm

(d) Trurferer anfe S8 T fFeri & fa

‘mif gar’ gataz fFefafaa § @ 5 wemet @
gefq 8, fSed e & w5 wg Aty &
feufq =t ot mn & 2

(a) ﬁq@ﬁ'ﬁ?

(b) i swifa

(c) WG &1 faurem

(@) drz foge

10. deu il fid (1993) Frefafaa 3 @ fa

&7 § gafd 8 ?

(a) gfW® gur
(b) frat= gar

e

12.

13.

14.

15.

A)

frafafea @ @ fra sifufam & g wa &
TR SR <t uftwg & fafer weer = aftrfoa
fepam R 2

(a) VAT Ve, 1773
(b) T sfean vae, 1784
(c) T U, 1833

(d) =T T, 1813

qRa | st < g sges grdsie Sufeafa
fafafea & & forg ward g5 ot 2

(a) =3, 1908
(b) «RE, 1916
(¢) ¥, 1915
@ feeeht, 1915

IS, 1938 B THEL TR & qR W
TSt % T B TgF e A4S off 0

(a) Gefiet TR
(b) ITEIEATH
(¢) AR 188

(d) WM 37egd TFHR EH

TEST WRATT HEEH1 SfUIH e it g ?
(a) 1858
(b) 1861
(c) 1881

(d) 1905



8. Which of the following is not among
the functions of the Election Commission of
India ? :

(a) To conduct elections to the Parliament
and State Legislatures

(b) To supervise, direct and co_ntrol the
preparations of the electoral rolls in a
State

(¢)  To conduct elections to the offices of the
President and the Vice-President

(d) To conduct elections to local bodies like
municipalities etc.

9. ‘Garam Hawa’, a movie that depicts the
hardship and indecision of the protagonist, is
related to which one of the following events ?
(a) The Sepoy Mutiny
(b) The Indigo Rebellion
(c) The Partition of India
(d) The Paika Rebellion

10. The Vohra Committee Re‘port (1993) was
related to which one of the following areas ?
(a) Police Reforms
(b) Electoral Reforms
(¢)  Judicial Reforms
(d) Market Reforms

11. The Chipko Movement is related to which one
of the following issues ?

(a) Land rights of tribals

(b)  Commercial logging

(c)  Atrocities against Dalits -

(d) Rights of farmers
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12.

13.

14.

15.

(5-A)

(b)

Which one of the following Acts added a Law
member to the Governor General’s Council in
India ?

(a)  The Regulating Act of 1773
The Pitts India Act of 1784
(c) The Charter Act of 1833

(d) The Charter Act of 1813

Gandhiji’s first major public appearance in
India happened in which one of the following
cities ?

(a) Bombay, 1908
(b) Banaras, 1916
(¢c) Surat, 1915

(d) Delhi, 1915

Who did not accompany Gandhiji during his
visit to the NWFP in October, 1938 ?

(a) Sushila Nayar

(b) Amtus Salam

(c) Jawaharlal Nehru

(d) Khan Abdul Ghaffar Khan

The first Indian Factories Act was passed in :

(a) 1858
(b) 1861
(c) 1881
(d) 1905



16.

“idta e’ fefafea § @ fea srfafem
1 39 fagman (Rfim $ier) 2 2

(a) TEHE 3% 3feam Ve, 1919

(b) TEHHe 31 3feAm Ve, 1935

(0 e U, 1919

(d) 3feam wefaew tFe, 1892

17. 1905 ¥ TSt Ifidled % URH H HEI HH
wiffy arfged aftsg & Ashedt & 2
(a) m%‘ﬁ'{
(b) THgge Pradt
(c) Hdwr dg g
(d) TS garyg dfeaish

18. T 150 Hiet el 34 Tsh HidA-UeeR i 10 HHUS
¥ R @ & | gHE 9 (TfE) ¥ 9| @
Zalt 37 39 Hid-ueR H 12 YHvs § TR Ll
R 1@l A e Rt 8 2
(a) 180m
(b) 120m
() 200m
(d 100m

19. UF A 9 9 s=i A, B 3R C A HAM:
3:4:5% U@ # S U &t B | WH
ae, fiar v &= W T 40 A B
gRumEEEy 31§ A, B 31 C i Ju-gd Ul H
AT AT 5: 6: T8 AT 8 | C il IEhH!
af & ferat afyr fireht 2
(a) T80
(b) T 100
¢ T 120
d T60
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22.

23.

(6-A)

21.

-(d)

20. aAfe et Marfed (Afacfiv §m) & 1 SHad

I GHaR 2, df 3@ 99 31 femsr o F=fafea
# | -8 9 B 2

@ ST | A IS AR

Teh ehMER 3T M T 10% % P a1 2 |
foret @@ Y sifehd Fma T 2808 | 34
WM H q= T GHHGR 26% TN Afid Hal
® | 38 9H hI AN HIHA 1R ?

(a) T 260
(b) ¥ 240
(© 200
@ ¥ 180
Tsh HMHER 5% 1 BT Bl 5% H W § qeeH

¥ U v gmH H hiFd B T 500 TG <l

2 | 35 9 I ANTd HIEd =8 ?

(a) ¥ 1,000
(b) < 5,000
(¢c) ¥ 10,000

(d ¥ 1,200

59 @ T % AT F i P IAH AR F
it & e S 8, 9 G 416 I it B |
ATheA & a1 IR I & i H T F AR
3842 | 9 HEATE HH-H & ?

(a) 18324

(b) 12316

(¢ 8312

10 37X 12



16.

17.

18.

19.

(a) T80
(b) ¥ 100
()" T120
d T60
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‘Provincial Autonomy’ was the most

redeeming feature of which one of the
following Acts ?

(a) The Government of India Act, 1919
(b) The Government of India Act, 1935
(¢c) The Rowlatt Act, 1919

(d) The Indian Councils Act, 1892

At the beginning of the Swadeshi Movement
in 1905, who was the Secretary of the Bangiya
Sahitya Parishad ?

(a)
(b)
(c)
(d)

Rabindranath Tagore
Ramendrasundar Trive;ii
Satish Chandra Mukherjee
Raja Subodh Mullick

A train of 150 m length crosses a milestone in
10 seconds. Another train with the same
speed crosses the milestone in 12 seconds.
What is the length of the second train ?

(a) 180 m
(b) 120m
(0 200m
(d 100m

A mother gives pocket money to her three
children A, B and C in the ratio 3 : 4 P
respectively. Then the father gives ¥ 40 to
each child. As a result, the pocket money of
A, B and C now has the ratio 5:6:7
respectively. How much does C get from her
mother ?

20.

21.

22.

23.

(7-A)

If the 1% of January of a non-leap year is a
Monday, then which one of the following days
will the 31% of December of that year be ?

(a)
(b)
(c)
(d)

Monday
Tuesday
Sunday

None of the above

A shopkeeper gives a discount of 10% on his
items. ¥ 280 is the marked price of an item.
On selling this item, the shopkeeper earns a
profit of 26%. What is the cost price of the
item ?
(a)
(b)
(c)

(d)

T 260
T 240
< 200
T 180

In order to convert a loss of 5% to é profit of
5%, a shopkeeper raises the price of an item
by ¥ 500. What is the cost price of the item ?

(a) ¥ 1,000
(b) ¥ 5,000
(¢ ¥ 10,000
d ¥ 1,200

When the square of the sum of two numbers
are added to the square of their difference, we
get 416. The difference between the square of
the sum and square of the difference is 384.
What are the numbers ?

(a) 18 and 24
(b) 12and 16
(¢) 8and12

(d 10 and 12



24, UMl 3R 3= ge9 GEiE & e ° fffa
e & A9 Uk H TN FEd 8, [ gor A

25.

26.

27.
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St # gfg &t 2 2
(a) ®HH

(b) S qaT

(c) B-H&R (B-ENIEHH)
@ whehwar

frrfrfien & & f ot % e-aemE He
(STE-aqET ) & T4 F T 1T 2 2

(a) IR

(b)  Sfiawsa

OREIRUES

(@ Sham (smm)

Fhme U g (S iR @id), 5w, @,
Hre 3R Yrrargeht 9@ fafay meadi @ S g
2 | frefafga § 4 foem I 1 FE Amaes
(dFR) 78 R 2

(a) UgH

(b) W@

(¢ S
() et

3y foreft Sfta ot F=ferfiea & & fopg S-S
(fFrem) & @M, St gohgehl, Sg-HIRTRA 3R
JTHIT-HIAT B 2

(a) WifeE

(b) AT

(c) Hah (HIT3)

(d) ufmfern

08, PoffEs § @ R SR H (3

29.

30.

(8-A)

afiae) W fereeh 1 W @7 adt & 2
(a) TITHE (SATEEETN)

(b) TEEEW
(c) hgh

(d) et I9ehLl

IrEdfae e R g5 gARE (e T8e) *
st fordaT gHTaR BaT R 2

(a) T 3 fie
(b) T T fie
() Waﬁqz

(d) T i e

fiefofas § 3 5% Te@ T (AW 3T
i)’ HEd & ?

(a) 3 9Tl H1 had WHITdH Haw &

b W T, wa e A fal % R

Tt AR AT 8

© @, wE f e ¥ R aw
gled 8

@ X T S e A % o @ gag
% 3
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25.

26.

27.
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The organic component of soil, formed by the
decomposition of leaves and other plant
materials that adds to the fertility of the soil

is called :

(a) Humus.
(b) Top soil.
(c)  B-horizon.

(d) Mineralization.

Which one of the following is known as the
life-supporting zone of the Earth ?

(a) Ecosystem

(b) Biosphere

(c) Atmosphere
(d) Biome
Infectious diseases

can spread through

various means, such as air (sneezes and
coughs), water, food, insects and . vectors.
Which one of the following diseases does not
have a vector ? Ll

(a) . AIDS
(b) Malaria
(¢) Dengue
(d) Zika

In which one of the following kingdoms, would
you place an organism which is eukaryotic,
multi-cellular and non-photosynthetic ?

(a) Protista
(b) Monera
(¢) Fungi

(d) Animalia

28.

29.

30.

(9-A)

Which one of the following cell organelles is

not lined by membrane ?

(a) Lysosome *
(b) Ribosome

(¢)  Nucleus

(d) Golgi Apparatus

What is the time difference between the

actual sunset and apparent sunset ?
(a)  About half a minute

(b)  About one minute

(¢c)  About two minutes

(d) - About twenty minutes

Which of the following are called the ‘Ports of
Call’?

(a) These ports have only strategic

importance

(b) Ports where goods are brought for

export from different countries

(¢) Ports where ships used to anchor for

refuelling

(d) Ports. which are exclusively concerned

with transportation of passengers



31.

32.

33.

34.

35.

36.
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ﬁm%ﬁaaﬁﬁ%aéwéaww%@m
22

(a) wferferm

(b) ShcHAMT

(OB

(d) %

ﬁtr%ﬁaaﬁéﬁwﬁqﬁmaaﬁwm
S22

(a) e

(b) IAAHAG

(c) 9§

(d) IJq1

frafafed & & S & B o ed & @
B el 8 ?

(a) TEt

(b) o™

(¢c) =FH

(@ Hags

@?ﬂw%mﬁw&'{ﬁaﬁﬁémmﬁ
i 78t @t 2 2

(a) FN@S

(b) feEr

(c) ffesm

(d) AT

g s fefafes & 4 e &3 @
TeftE 8 2

(a) W&l 9=l 1 TS

(b) HgST GEY

(¢) Tratem gar

(d) I AFTE § = f e
oy A o afifa & sreme it Fgfe we
AT R ?

(a) @ TN & eI

(b) TSI AT & I

(c) YRA o Usgufd
(d) e AT § SgHd T & o AdT

37. ¥ I H g I F Ty gafa Hife sk

38.

39.

40.

(10-A)

gt & = fiu T g #1 W@ W owd @
EGLE

g gl
A. =yt swifd 1. SIS wAffeq
B. Tt gersn 2. ST YIS ARV
C. IME M 3. gfew wieft
D. 4 ga 4. I TA THR
%<

A B C D
(a) 2 4 3 1
(b) 2 3 4 1
fe)s il 3 4 2
(dy - 4 3 2

(a) S=AH <ARCHE, 3= AEEE 3R en
AT

(b) @ THT, T BT 3R T faymsea

(¢) Taunfer, sriiferen 3 =maiferent

(d) Tsgufd, 9uM Wt 3 =iy

fafafed & @ sFa 9w " uHe

SATYRR AT & Hay § adt 787 2 2

(a) I8 foeft wfuem it =dom @ S =
HehaT 8 |

(b) I8 VR BLHR 1 e 2 |

(c) W& 3Tasharel Hedl Higa freft oft At =1
QAT X Thal & I TG BRI %
g frer a2 1

(d) I8 AFT AYSR | T TSR i
TR AT 2 |

Frafafea § & ferger dey “fomman fesn-fday

aR?

(a) Wﬁmqﬁ&a

(b) Gferft yoras (= yorgean)

(c) WIS I HEEA W Al Iefie

(d) <& ufouy



31. Tropic of Capricorn passes through which one
of the following countries ? ;
(a2) Bolivia
(b) Botswana
(¢) Zimbabwe
(d Uruguay
32. Which one of the following river valleys is
associated with the production of coal ?
(a) Sone
(b) Alaknanda
(¢) Chambal
(d) Yamuna
33. Which one of the following rivers flows
through the Shipki La Pass ?
(a) Ravi
(b) Jhelum
(c) Beas
(d) Satlyj
34. Which one of the following States does not
make boundary with Chhattisgarh ?
(a)  Jharkhand
(b) Bihar
(¢) Odisha
(d) Telangana
35. The Sarkaria Commission relates to which
one of the following areas ?
(a) Constitution of Urban Panchayats
(b) Centre-State relations
(¢) Electoral reforms
(d) Appointment of judges to High Courts
36. Who appoints the Chairperson of the Public
Accounts Committee of the Parliament ?
(a) Speaker, Lok Sabha
(b) Chairman, Rajya Sabha
(¢c) President of India
(d) Leader of the majority party in the Lok
Sabha
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37.

38.

39.

40.

(11-A)

Match List I with List IT and select the correct
answer using the code given below the Lists :

List I List IT
A. Total Revolution 1. George
Fernandes
B. Garibi Hatao 2. Jaya Prakash
Narayan
C. Shah Commission 3. Indira Gandhi
D. Railway Strike 4. Janata Party
Government
Code :
A B C D
(@ 2 4 3 1
b) .2 3 4 1
(o) & 3 . 2
(d): .4 4 3 2

Which one of the following is related with the
doctrine of ‘Separation of Powers’ ?

(a) Supreme Court, High Courts and
District Courts 4

(b) Lok Sabha, Rajya Sabha and State
Legislatures

(¢) Legislature, Executive and Judiciary
(d) President, Prime Minister and Judges

Which one of the following statements is not
true in regard to the National Human Right
Commission ? :
(a) It can inquire suo motu on a petition.

(b) Itis a body of the Government of India.
(¢c) It can review any matter including acts

of terrorism that inhibit the enjoyment
of Human Rights.

(d) It spreads Human Rights literacy.

Which one of the following is related to the
‘Vishakha Guidelines’ ?

(a) Prohibition of child marriage

(b) Female foeticide

(¢c) Sexual harassment
workplace

(d) Prohibition of dowry

of women at



41.

42.

43.

45.
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W G % T weatE S Ee
it frm ad st frm w2

(a) 1955

(b) 1956

(c) 1961

(d 1975

fofewr swmem & ol wra &1 ygen aEE
Frafefaa & @ = a1 2

(a) WS SRSt

(b) WS HiaTd

(c) ToepEe S

(d) 3Tt AT TN

1869 ® W T8 & @ie aun fava refegaeen
% WY 39 HaY & A, Ffafed § @ fea
YA Y& ! ‘YR &7 J9H7 I (37 Y87
57 3feq)’ % &9 o fufga feran man 2

(a) =g

(b) WHgE

A(c) hefehdl

(d) H

Hasdl # Tfed diedt dfufa (1817) w1 g&A
e fefafga 8 @ s ar 2

(a) e aera i fafafia s

(b) &= 9df & forw dfedt freprern

(¢) TR ASHT §HHT

(d) HgHI W J Geid T Ush AT

fafafed & & sha 9 qife T 787

o1 2 .
(a) @&l
(b) HITAH

(¢) HIAgE
d ™

46.

47.

48.

49.

50.

(12-A)

fedfta mar a9 wie ¥, fafafaa & @ e
fahl (FICCY) fafAfasea &1 Jgea feram on 2
(a) IR, 2T

(b) B A

(¢) I.Ud. s

(d) .. foten 3R ape™

frafafga & @ forem ad 1928 & wfeq s
T gfufa (3feam weg +idh) i srememar H
off 2

(a) WA A%

(b) T EWhIC FEeR

(0) 3 HIYAE

@ AT

Ifg uie AT 9 HEARTN H AMEA, TUH
Ui YU TSt % U & ST ®, al
frfafiea ¥ & s gen, 7 g9 e
! ggad 8t 2

(a) 30

(b) 24

() 26

(d) 28

30 faenféfai & v wqg #, v foaaneff 3 &
R S - fowdi § A FHAHH TH H=
I fren 2 | 398 ¥ ang faenfdai 3 & ok
arga foenfefat 3 ofsh &1 ==w fean 2 | e
U 1 T HE d faenlR H gen
fepat 8 2
(a)5~:22
(b) 18
(e)i 7512
(d 8

3,6,9,12, ... 209 9 d hH TEATAT HT INTHA
T 81 ?

(a) 600

(b) 1260

(¢) 630

d 960



41. The Act to make daughters an equal co-heir
with the sons was enacted in :
(a) 1955
(b) 1956
(c) 1961
d: 1975

42. Who among the following was the first
Viceroy of India under British Rule ?
(a) Lord Dalhousie
(b) Lord Cornwallis
(¢) Viscount Canning
(d) Earl of Mayo

- 43. Which one of the following Indian cities was

labelled as ‘Urbs Prima in Indis’ after the
opening of the Suez Canal in 1869 and its
links with the world economy ?
(a) Bombay
(b) Madras
(¢c) Calcutta
(d) Surat

44. Which one of the following was the main
purpose of the Lottery Committee (1817)
formed in Calcutta ?
(a) Regulating Club Lotteries
(b) Drawing lots for military recruitment
(¢c) Organizing town planning
(d) Checking street gambling

45. Which one of the following was not a Shaiva
tantric sect ?
(a) Sahajiyas
(b) Kapalikas
(¢) Kalamukhas
(d) Nathas

KLFG-U-VBY

46.

47.

49.

50.

(13-A)

At the Second Round Table Conference,
who among the following led the FICCI
delegation ?

(a) J.R.D.Tata

(b) Homi Mody

(¢c) J.L. Bajaj

(d) G.D. Birla and Thakurdas

Who among the following headed the Indian
States Committee formed in the year 1928 ?

(a) Motilal Nehru

(b) Sir Harcourt Butler
(¢) Ian Copland

(d) M.A. Jinnah

If the sum of five consecutive even numbers is
equal to the product of first five natural
numbers, then which one of the following is
the largest of those even numbers ?

(a) 30

(b) 24
(c) 26
(d): =28

In a group of 30 students, each student has
opted for at least one of the two subjects,
Hindi and English. Twelve of them have opted
for Hindi and twenty-two have opted for
English. The number of students who have
opted for only English is :

(a) 22
(b) 18
(c) 12
d 8

The sum of the numbers 3, 6, 9, 12, ... up to
the 20" term is :

(a) 600
(b) 1260
(¢) 630
(d) 960
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53.

54.

55.
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51.

52.

53.

A solid metallic sphere of 2cm radius is
melted and converted to a cube. The side of
the cube is approximately equal to :

(a) 24cm
(b) 2:8cm
(¢c)  32¢cm
(d 36cm

‘B’ is 28 years older than ‘A’. After 12 years
from now, the age of ‘B’ will be twice the age
of ‘A’. The present age of ‘A’ is : ;

(a) 10 years
(b) 12 years
(¢) 30years
(d) 16 years

Suppose, ‘A’ can complete a job in 10 days,
and ‘A’ and ‘B’ together can complete the same
job in 6 days. In how many days can ‘B’ alone
complete the job ?

(a) 15days
(b) 12days
(¢c) 18days

(d) 20days

The blue colour of the sky and the reddening
of the Sun at sunrise and sunset are caused
due to the phenomenon of :

(a) dispersion of light.
(b) reflection and refraction of light.
(¢c) aberration of light.

(d) scattering of light.
55. Which one of the following materials cannot
be used to make a lens ?
(a) Water
(b) Glass
(¢) Plastic
(@ Clay
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56.

57.

58.

59.

(15-A)

Dioptre is the SI unit of :
(a) size of the lens.

(b) curvature of the lens.
(¢) power of the lens.

(d) magnification produced by a lens.

The image formed by a plane mirror is :
(a) always virtual and erect.

(b) always virtual but erect or inverted
depends upon the size of the object.

(¢) never virtual but always erect.

(d)

always real and erect.

Dyes in black ink can be separated by :
(a) evaporation.

(b)
(c) sublimation.

(d)

centrifugation.

chromatography.

The main constituents of atmospheric air
are Oxygen (Oy) and Nitrogen (Nj). The
composition of Oy and Ny is approximately :

(a) 29% and 70% respectively.
(b) 19% and 80% respectively.
(¢) 21% and 78% respectively.

(d) 23% and 76% respectively.

Which one of the following is the largest
3-digit number which when divided by 12, 15

and 18 respectively, gives a remainder 5 in
each case ?

(a) 955
(b) 905
(c) 995
(d) 755
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63.

KLFG-U-VBY

From a pack of 5 green balls and 4 red balls,
2 balls are drawn at random. What is the
probability that both the balls are of the same
colour ?

(a) 5/9
(b) 4/9
() 29
(d) None of the above

If o and B are the roots of the equation
x% — 7x + 11 =0, then the value of o + B3 is
equal to :

(a) 112
() 77
(0 49
(d) 224

Which one of the following substances shows
sublimation behaviour or property at
standard temperature and pressure ?

(a) Solid carbon dioxide
(b) Water

(¢) Liquid nitrogen

(d) Iron

Which one of the following compounds is
present in antacid tablets or medicines which
are used to cure indigestion and acidity in the
stomach ? '

(a)  Sodium hydroxide
(b) Potassium hydroxide
(¢)  Lithium hydroxide

(d) Aluminium hydroxide

65.

67.

(17-A)

What is the state of matter in a glowing
fluorescent tube ?

(a) Gas
(b) Liquid
(¢) Plasma

(d) Bose-Einstein Condensate

Kaleshwaram Lift Irrigation Project, often
discussed in media, is built across which one
of the following rivers ?

(a) Cauvery
(b) Godavari
(¢). Krishna

(d) Penneru

Recently, in which one of the following
countries did the military oust the
Government and seize power ?

(a) Belarus

(b) Costa Rica

() Sudan

(d) Turkmenistan

Recently, the WHO has approved the
widespread use of the World’s first vaccine
against which one of the following
diseases/infeetions ?

(a) Hepatitis C
(b) Nipah Virus
(¢ Malaria

(d) Zika Virus
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The Central Government is planning to make
major interventions in which one of the
following regions of India to make it an oil
palm hub ?

(a) Coromandel Coast

(b) North-Eastern States

(¢) Rayalaseema

(d)

Saurashtra

Which one among the following countries,
which was in the news recently, has lost more
than 90% of the value of its currency in two
years ?

(a) Algeria
(b) Lebanon
(¢) Morocco
(d) Turkey

Recently, the Supreme Court of India ordered
the laying of underground high-voltage power
lines in Gujarat and Rajasthan to save the :

(a) Great Indian Bustard.
(b)  Great Indian Hornbill.
(¢)  Spot-Billed Pelican.
(d)

Sarus Crane.

Consider the following statements with
respect to Polavaram Project often mentioned
in the news :

1. It is being constructed on river

Godavari.

2. It is meant to supply irrigation water to
parts of Andhra Pradesh, Telangana
and Chhattisgarh.

Which of the statements given above is/are
correct ?

(a)
(b) 2only

(c) Both1and2
(d) Neither 1 nor 2

1 only

73.

74.

75.

(19-A)

Which one of the following statements with
regard to  historical importance of
Kushinagar, is correct ?

(a)  Siddhartha Gautama’s ‘great departure’
took place here and he became an

ascetic, a Sramana.

(b) Siddhartha Gautama, obtained his
enlightenment here and he became

Buddha.

(c) Buddha gave his first sermon known as
Dharmachakra-parivartana sutra.

(d) Buddha passed away here, which is

known as Mahaparinirvana.

What is ‘PM Gati Shakti’ often seen in the
news ?

(@) An integrated digital platform for
infrastructure development
(b) A poverty alleviation programme of the

Union Government

() A holistic welfare programme meant for
migrant labour

(d) A master plan to develop the country’s

defence capabilities

The concept ‘fallback liability’, recently in the
news, is in relation to :

(a) the Central Government grants to

States.
(b)  business-of e-commerce companies.
()  recapitalisation of public sector banks.

(d) merger of small banks with big banks.
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PART B

Metal detector is meant to detect the presence
of which of the following in the search object ?

(a) Ferrous metal only

(b)  Ferrous and plastic objects only

(¢)  Ferrous and non-ferrous objects only
(d)  Ferrous, non-ferrous and plastic objects

The fee received by CISF for Technical
Consultancy Services to industrial
establishments is credited to :

(a) CISF Welfare Fund.

(b) CISF Consultancy Fund.

(¢) Consolidated Fund of India.

(d) Contingency Fund of India.

. Which of the following is/are the basic

function(s) of a CCTV system ?

1. To disallow unauthorised persons to
enter into any building in the premises

2. To allow a person to observe a scene
without being present at the scene

3.  To allow an activity to be recorded for
future viewing

Select the correct answer using the code given
below :

(a): 1,2:and3

(b) 2only

(¢) 1and3only

(d) 2and 3 only

As per the CISF Act, 1968, which of the
following is not correct as far as the
procedure to be followed after arrest by CISF
is concerned ?

(a) To hand over the arrested person to the
nearest police station

(b) To hand over the arrested person to the
management of the undertaking

(¢) To hand over the arrested person to a
police officer

(d) To prepare a report of the circumstances
occasioning the arrest

PROFESSIONAL SKILL
76. Card reader as a means of Access Control is | 82.
becoming popular as compared to a human
guard. In this context, which one of the
following statements is not correct ?
(a) = It offers better security as it cannot be
bribed.
(b) It is more economical.
(¢) It can never fail. 83
(d) Itisalways alert. 5
77. Which one of the following is not a function of
Personnel Access Control System ?
(a) To prepare Identity Card
(b) To interrogate
(¢) To take decisions
(d) To respond
84
78. Which one of the following is not detected by
fire detectors ?
(a) Radiation
(b) Heat
(¢) Light
(d) Smoke
79. Night Vision Devices do not consist of :
(a) Telescope.
(b) Binocular.
(¢) X-rays.
(d) Infrared image converter tube.
80. Which one of the following is not a High
Intensity Explosive ? "
(a) TNT g
(b) RDX :
(¢) Black gunpowder
(d) Plastic explosive
81. Which one of the following breeds of dogs is
: not suitable as sniffer dogs in aviation
security ?
(a) German Shepherd
(b) Cocker Spaniel
(c) Labrador
(d) Pomeranian
KLFG-U-VBY (21-A)
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86. Which one of the following is the highest
category Protectee ?
(a) Z category protectee
(b)  Z+ category protectee
(c) SPG protectee
(d) CISF protectee
87. During the outbreak of fire in a unit, which
one of the following should not be done ?
(a)  Stop the fire from spreading
(b)  Reach the spot as early as possible with
proper equipment and sufficient
manpower '
(¢) Inform the local police and wait till the
police arrives
(d) Rescue of the persons caught in the fire
88. Random frisking means frisking of :
(a) persons who are well-built.
(b) persons who are drunk.
(c) atleast every fifth person.
(d) few male persons only.
89. In which of the following years were
amendments in the CISF Act brought in ?
(a) 1983, 1989, 1999 and 2011
(b) 1983, 1991, 2001 and 2009
(e) 1983, 1989, 1999 and 2009
(d) 1983, 1989, 2001 and 2011
90. Which one of the following is the full form of
X-BIS?
(a) X-ray Baggage Inspection System
(b) X-ray Baggage Imaging System
(¢) X-ray Based Imaging System
(d) X-ray Baggage Identifying System
KLFG-U-VBY

91.

92.

93.

95.

(23-A)

CISF is inducted in an undertaking after the
approval of MHA and :

(a) orders of Director Ge_neral.
(b) recruitment of constables.

(c) completion of pre-induction formalities
and payment of security deposit.

(d) completion of fresh training of all those
CISF personnel who are going to be
inducted.

In India, which one of the folldwing forces is
designated to deal with Anti-Hijacking
operations ?

(a) SPG
(b) BSF
() NSG
(d) CISF

CISF is normally not deployed for :
(a) election duty.

(b)  counter-insurgency duty.

(c) disaster management duty.
(d)  VIP security duty.

Landslide caused due to civil construction
work in a hilly area is :

(a) aman-made disaster.
(b) anatural disaster.
(¢) None of the above
(d) Both (a) and (b) above

As per the CISF Rules, 2001, which one of the
following is not a Major Penalty ?

(a) Dismissal from service
(b) Withholding of promotion
(¢) Compulsory retirement

(d) Removal from service
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97.

98.
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96. Which one of the following areas of the
Airport does not fall under Airside as far as
security of Airport is concerned ?

(a) Tarmac

(b)' Visitors car parking area
(¢) Terminal building

(d) Runway

97. As per the CISF Rules, 2001, which one of the
following is not a follower ?
(a) Fitter
(b) Switch Board Attendant
(¢) Painter
(d) Tailor

98. Which one of the following statements is not

: correct ?

(a) The supervision of CISF vests with DG,
CISF.
(b) The administration of CISF vests with
DG, CISF.
(¢) The command of CISF vests with DG,
. CISF.
(d) - The superintendence of CISF vests with
DG, CISF.
99. In which of the following States, is an NDRF
Battalion not located ?
(a) Himachal Pradesh
(b)  Uttar Pradesh
(¢)  Arunachal Pradesh
(d) None of the above
~ KLFG-U-VBY (25—

100. Which one of the following is the full form of

101.

102.

A)

NDRF ?

(a) National Disaster Reaction Force

(b) National Disaster Responder Force
(c) National Disaster Response Force
(d) National Disaster Relief Force

Whenever it is necessary to cause a female to
be searched, it is essential that the search
shall be made by :

(a) any police officer.

(b) any police officer in the presence of a
female.

(¢) another female with strict regard to
decency.

(d) only a female pdlice officer.

Under which of the following circumstances
may a search warrant be issued by a court ?

1.  Where such document or thing is not
known to the court to be in the
possession of any person

2.  Where court considers that the purpose
of any
proceedings under the Code of Criminal
Procedure, 1973 will be served by
general search

inquiry or trial or other

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2
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103.

104.

105.

Under which one of the following situations

- may dispersal of assembly by use of civil force

not be commanded by any Executive
Magistrate or Officer-In-Charge of a police
station ?

(a)
(b)

For dispersal of an unlawful assembly

Assembly of five or more persons likely
to cause a disturbance of public peace

(c)  Assembly of five or more persons likely
to invite more persons to join

(d) The assembly conduct itself in such a
manner as to show a determination not
to disperse

Who amongst the following can issue a

warrant to search the place suspected to
contain stolen property, forged document,
etc. ? :

1. District Magistrate
2. Sub-Divisional Magistrate
3. Magistrate of the First Class

Select the correct answer using the code given
below :

(a) 1and2only

(b) 2 and 3 only

(c) 1,2and 3

(d 1and3only

Where the property seized under Section 102

of the Code of Criminal Procedure, 1973 is
subject to speedy and natural decay and if the
person entitled to the possession of such
property is unknown or absent, the property
may forthwith be sold by auction under the
orders of the Superintendent of Police, if the
value of such property is :

(a) more than ¥ 500.

(b) less than ¥ 500.
(¢c) lessthan ¥ 1,000.
(d) more than ¥ 1,000.
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106.

107.

108.

A)

‘A’ cut down a tree on ‘B’s ground, with the
intention of dishonestly taking the tree out of
‘B’s possession without ‘B’s consent. Which
one of the following statements is correct ?

(a)

‘A’ commits no offence because the tree
is an immovable property.

(b) ‘A’ commits criminal breach of trust.

(¢) ‘A’ committed theft as soon as he
severed the tree in order to such taking.

(d) ‘A’ committed an attempt to theft.

What is the punishment prescribed for the
offence of theft under Section 379 of the
Indian Penal Code, 1860 ?

(a) Imprisonment of either description for a
term which may extend to five years or
with fine, or with both

(b)  Simple imprisonment for a term which
may extend to five years or with fine, or

_with both
(c)

Simple imprisonment for a term which
.may extend to three years or with fine,

or with both
(d)

Imprisonment of either description for a
term which may extend to three years

or with fine, or with both

‘A’, a Revenue Officer, is entrusted with public
money and is either directed by law, or bound
by a contract, express or implied, with the
Government, to pay into a certain treasury all
the public money which he holds. ‘A’
dishonestly appropriates the money. ‘A’ has
committed the offence of :

(a) theft of public money.

(b)  criminal misappropriation.
(¢) criminal breach of trust.
(d) cheating.
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Whoever voluntarily assists in concealing or
disposing of property which he knows to be
stolen, shall :

(a) not be liable for any offence under the

Indian Penal Code, 1860.
(b)

be punished with simple imprisonment,
which may extend to three years or with

fine.

be punished with imprisonment of
either description which may extend to
three years or with fine or with both.

(c)

(d)

.be punished with simple imprisonment,
which may extend to five years or with
fine.

‘A’ is having joint property with ‘Z’ in a horse.
‘A’ shoots the horse with the intention to
cause wrongful loss to ‘Z’. ‘A’ has committed
which one of the following offences ?

(a)
(b)
(©)
(d)

Breach of trust
Trespass of property
Mischief

Criminal misappropriation

A person shall be punishable with rigorous
imprisonment for a term which may extend to
ten years, and shall also be liable for a fine, if
the person : v

(a) commits theft, having made
preparations for causing death or hurt
to any person in order to committing of

such theft.
(b)

causes death of any person while
committing theft.

(0

causes grievous hurt to any person
while committing theft.

causes simple hurt to any person while
committing theft.

(d)

(28

112.

113.

114.

115.

A)

- (b)

The Universal Declaration of Human Rights
was adopted in :

(a) 1947

(b) 1948

() 1949

(d 1950

The International Bill of Human Rights
consists of the following except the :

(a)
(b)

Universal Declaration of Human Rights.

International Covenant on Civil and
Political Rights.

International Covenant on Economic,
Social and Cultural Rights.

International Court of Justice.

(c)

(d)

In India, for better protection of human

rights, the National - Human Rights
Commission, State Human Rights

Commissions and Human Rights Courts are
constituted under :

(a) The Human Rights Act, 1988.

The Protection of Human Rights Act,
1993.

The Protection of Civil Rights Act, 1955.

The International Bill of Human Rights,
1948.

(c)
(d

The Chairperson of the National Human

Rights Commission is appointed by the :

(a) President of India.

(b) Prime Minister of India.

(¢)  Chief Justice of the Supreme Court of
India.

(d) Minister-in-charge of the Ministry of

Home Affairs.
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116. The National Human Rights Commission
shall, while inquiring into the complaints for
violation of human rights, have all powers of :

(a)
(b)
(c)

(d) -  both'Civil and Crintingl Covets.

117.

human rights by members of the armed
forces,
- Commission shall adopt which of the following

procedures ?

15

Select the correct answer using the code given

below :

(a)
(b)
(©)
(d)

KLFG-U-VBY

While dealing with complaints of violation of

a High Court.
a Civil Court only.

a Criminal Court only.

the National Human Rights

It may, either on its own motion or on
receipt of a petition, seek a report from
the Central Government.

After the receipt of the report, it may
proceed with complaints and make its
recommendations to that Government.

The Central Government shall inform
the Commission of the action taken on
the three
months or within the time extended by

recommendation within

the Commission.

1 only
1land 2 only
1,2and 3

2 and 3 only

(31-A)

118.

119.

120.

Which of the following statements is/are
correct ?

The Employees’ Provident Funds and
Miscellaneous Provisions Act, 1952 is
generally applicable to every establishment :

1. which deposits GST of more than
T 50,000 per year.

2. employing twenty or more persons.

Select the correct answer using the code given
below :

(a) 1only

(b) 2 only :

(¢c) Both1and2
(d) Neither 1 nor 2

What is the term of the Presiding Officer of

Employees’ - Provident Funds Appellate
Tribunal ?

(a) Five years from the date on which he
enters upon his office or until he attains
the age of 62 years, whichever is earlier

(b) Five years from the date on which he
enters upon his office or until he attains
the age of 65 years, whichever is earlier

()  Three years from the date on which he
enters upon his office or until he attains
the age of 62 years, whichever is earlier

(d) Three years from the date on which he
enters upon his office or until he attains
the age of 65 years, whichever is earlier

The total number of members of Grievance
Redressal Committee, established under the
Industrial Disputes Act, 1947 shall not
exceed : B

(a) Five
(b) Seven
(c) N
(d) Eight
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fopereh o1efT wew & 2 _

(a) SiEnfies foarg srfufaem, 1947 1 am 22
(b) et foarg srfufm, 1947 61 ama 23
(c) oienfie foarg srfafem, 1947 1 um 24

(d) 3enfies faeme sAfufEm, 1947 6 g 29

Nefires faare sifufem, 1947 % s1efiw sieR

# Ag St F fow gawrer (geadh) wd (3d)
fraferfaa o & = 373 2

1. HHSHR I Th qEN hi Wt forfga g=n g
& T & md St % wru Iuehia fee
T E

2. wHBR I df F T FE whER w
PR W R T A S FRe e ¥
o e % R 15 R # st
Tl % SU A

p FHHR H VAl & HI VHT fdet

WaE w e = & @ fi| T A qan
1 Tsiglt & e &

= feu T Fe H T W T IW AT :
(a) %4 1

(b) e 139 2

(c) Had 2.

(d) I 13 3

: (32-A)

123. frios e et s+t wfoet & gam &

o geft 787 g 2 2
(@) e frdl wdudl = s e +
s 3% SN e e i B 3

(b) Al FHE H FE TE W A I R S

3 fem # fama: 87 I
ITshifereprer O & &9 & fAfifds R

(© 3R gHem gm g afd + gfomeEsy
Fif3reh f:arehan Bt 8 St wH=E % &9
ghifea +0 & WA & fag sifieas
&g ¥ fou v fordt emew it stam HH=
T ST T & SR g5 ol

) freh vt afa & e A, s aiomrasy
FHE 9T F g F QU I
&7 ¥ it R woEy & fag e
fahar it 8

124, eI Gashdal AT & JAH i fba = W

ot I ST R 2
(a) Haehdl IH
(b) &I Taehdl AT
(c) held Tachan AfehK
(d) HgIT Fahal TTH

125. ¥ET HE ot 27 R kel @ @, T 3T q=A

F ot ¥, fedt W@ sfter, R, =
it %, fwe fedt o @1 sEad 3
YEIH A TTEH R T R, Al
Ffered, Tpfa o foer A Iafa sEwERa
B 8, BT I2T FHEAT 8 ?



121.

122.

The provisions in relation to the illegal strikes
and lock-outs are given under :

(a) Section 22 of the Industrial Disputes

Act, 1947.

(b)  Section 23 of the Industrial Disputes

Act, 1947.

(¢)  Section 24 of the Industrial Disputes

Act, 1947.

(d) Section 29 of the Industrial Disputes

Act, 1947.

Which of the following is/are the condition(s)
precedent to valid retrenchment of a workman
under the Industrial Disputes Act, 1947 ?

1, The workman has been given one
month’s notice in writing indicating the
reasons for retrenchment

2 The workman has been paid at the time
of retrenchment compensation which
shall be equivalent to fifteen days’
average wages for every completed year
of continuous service

3. The workman has been paid, at the time
of retrenchment, compensation which
shall be equivalent to wages of thirty
days service :

Select the correct answer using the code given
below : :

(a) 1only

(b) 1and 2 only

(¢) 2only

(d) 1and 3 only
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123.

124.

125.

(33-A)

When is the employer not liable for payment
of compensation to an employee ?

(a) If personal injury is caused to an
employee during the course of his

employment

If the employee has cohtracted a disease
specified as an occupational disease
peculiar to that employment

If the injury resulting in partial
disablement was caused by accident
that happened due to the wilful
disobedience of the employee to an order
expressly given for the purpose of
securing the safety of the employees

(b)

(c)

(d) In respect of any injury which resulted
in the partial disablement of the
employee during the course of

employment for more than three days

The Chairperson of the Central Vigilance
Commission is also known as :

(a)

Vigilance Commissioner.

(b)  Chief Vigilance Officer.
(c)  Central Vigilance Officer.
(d) Central Vigilance Commissioner.

Any fact from which, either by itself or in
connection with other facts, the existence,
non-existence, nature or extent of any right,
liability, or disability, asserted or denied in
any suit or proceeding, necessarily follows is
known as :

(a)
(b)
()
(d)

Relevant fact.
Irrelevant fact.
Fact in issue.

Fact in law.
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Ter feman T B et 98 fre e B (¢ o+ Frofl # wg sifufruifa frar mn 2
for forelt oft foufa o forelt @neft & wopmm
= feu e e 1 W = I g %Y T avarg smutid T8 8wt § |
(@) e 1 @ fafy o3 3 marEl i fekar @ sgA@ *
9, IS At gRT YeH feR T HEw
(b) had 2 () W 5t e & |
(c) a3 130. frefht e da® W A 9on % foau g
d 1,233 I TSI TR T gd Aol - Maw B | YEER

framor srfufm & g 7, 11, 13 3R 15 %

e def squdl % fou & das W

; ; fRoA 9o B4 MEw® 99 A9l & fau

127. Fr=fafga § & -1 o e 787 2 2 Sy &1 3@ WErHR Fam sufEm, 1988

(a) TEEw S Rl wpEen @u S & $ frafafiaa # & form ura & oref foban T
Fri % w9 # A b dheE Head | R

g (a) 9WT 19
(b) T 18A
b) fiFa foa % e (c) ©T 20
() TR TE % ciie.- s W e -
i Ar 131. YSHR famo sifufm, 1988 i F=fafea o
) % I % F BHA g0 3T AEEE A 3
Qe & GeY § IuSY Hl @ 2
; (a) . YRl 25
128, Frefifgs § ¥ waw gw Wl @E Eb; $§;
% C
arfufrm, 1872 % AR gafera 787 2 2 ) W 34
() HRT 101 : §Ed T HI 132. g1 h Hife T 7T 1 I AqUlUR T
5 ayg & fau @ &1 Iu§y, WRAE < Higd,
(b) IR 135 : WA % IARTT ST IR 1860 1 Fr=rforfaa & & form g & feen mn
T{ieqT 1 Y 2
(a) 9T 302
(c) HRT 120 : Jegehliereh HoH (z) B o
: N o (c) HMI 299
(d) om 129 : fafy gemesw & Mol gemd e
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When is a confessional statement by an
accused to be proved against him in criminal
proceedings ?

1. When it is made to a police officer

2. When it is made in the immediate
presence of a Magistrate

3.  When it is made to a respectable person
of the locality where he resides

Select the correct answer using the code given
below :

(a) 1only
(b) 2 only
(¢) 3only
(d 1,2and3

Which one of the following is not a public
document ? :

(a)  Documents forming the acts, or records
of the acts of the sovereign authority

(b)  Documents of unregistered will

(c)  Public records of private documents

(d)  Records of acts of tribunals

Which one of the following pairs is not
correctly matched as per the Indian Evidence
Act, 1872 ?

(a) Section 101 : Burden of Proof

(b) Section 135  :  Order of Production
and Examination of
Witnesses

(¢)  Section 120 Dying Declaration

(d) Section 129 . : Confidential
Communication with
Legal Advisors

KLFG-U-VBY
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130.
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Which one of the following: statements with

- respect to number of witnesses is not correct ?

(a) No particular number of witnesses shall
in any case be required for the proof of
any fact.

It is the quality of the evidence and not
the quantity of the evidence which is
required to be judged by the court.

It is held in many judgments that
reliance cannot be based on the solitary
statement of a witness in any situation.
The legal system has laid emphasis on
value provided by each witness, rather
than multiplicity or plurality of witness.

(b)

(c)

(d)

To prosecute a public servant, prior sanction
from the Central or State Govérnment is
necessary. The provision for previous sanction
necessary for prosecution of public servant for
offences punishable under Sections 7 511518
and 15 of the Prevention of Corruption Act is
mentioned under which one of the following
Sections of the Prevention of Corruption Act,
1988 ?

(a) Section 19
(b) Section 18A
(¢) Section 20
(d) Section 22

Which of the following Sections of the
Prevention of Corruption Act, 1988 makes
provision regarding Appeals and Revision to
the High Court ?

(a) Section 25
(b) Section 27
(¢) Section 32
(d) Section 34

Punishment for culpable homicide not
amounting to murder is given under which
one of the following Sections of the Indian
Penal Code, 1860 ?

(a) Section 302
(b) Section 304
(¢) Section 299
(d) Section 300
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133. ‘A’ S Us IEAId JAdH Hl HEHE B,

IS 3 A foreft s = wam & for
.maﬁﬁzﬁﬁﬁﬁw%%aﬁwﬁm
1 |1 A8 Fee 3R 3 AEA el 9 0 |
THH 30 AN HI SiigH T8 forn df sad o
6 98 31U SO i U Geh, 98 oG TH=T
qrefl 19 B’ i AfERiA: THUR gal M | A’
3 919 B’ H Har I B = & fAw e
Al sed fear oK W@ SEH A" ¢ ¥ U
g Y T % fomr R W § feRarm | STa
Tl seer i ufsean #, 98 2 THE aredt 9|
‘C ! THUHL GoI &1 & | 39 WA H, A’ H
- frafafes & @ fr saug & fow gt sgTn
ST Fehdl B 2
(a) IdAEAT 3R Ul HE GRI TG HIA
T
(b) BT H Hf T T I aren AOiS
e 99
() e
) et ot smaqy & foe gt 7

134. Pefefiga # @ SRTvERa sfufm Sde

sienfies gran sa (FH.oE T us.)
7T g1 B/Ed 8 ?

1. wugd weE sAfufm, 1936

9. 3renfires foame rfefrm, 1947
3. WA g8 Hfedl, 1860

4. TEEE SFEE, 1948

H= fe T % F1 T R FE W AT
(a) haa 1,23 4

(b) Had 2,33 4

(¢) had 13 4

(d) Had 2

W

185. $g Ifefis guam s "W A,

1983 % I1gER, Frafafaa # & a1 3@ @@
w9 § gAfea 787 7 2 .

(a) AN FLam M . AH

(b) TET gean Afeprl : FHwise

(c) UM TLET M ;_Em%aa

(d) e AR . HEFIH HHISE

(36—

ISG.WWQNVWWEQW,

137.

18(1) & 3refi fafafés forelt smua it wita =
foremu & oA & fou wAEe Avar qued
¥ &1 5% fusil fradt wiiwat o w@m
T ?

(a) TIH T AfRge
) fedfia ot afsee
(c) 9¥A =S
(d) 3T AIE RS

Fi s gen w9 (Hom wmus.) #
fafe % R wEa B vl % wew d
frefefiga § 4 si9-ar a8 787 & 2

(a) oafth WA T ARG T

(b) =afes amies gean (fufew fedm) #
wfreror gTe BN

s =8 Afde =i %1 8

=ftr W@ afeRdl & gam &1 g, S
TR W HEE e g §a §
frafth ¥g T B9 % foe 5 TR g
i fepg wmd '

(c)
(d)

138. fFrfafag § @ +9-E fFft Tl Fas |

sftdifya 1 9= gt oy wieEi % =
it 7@ 2 ?

(a) uftfer

(b) FerAfd =T Tkl STHT

(c) AP darfef
(d) o g <t St

139. I8 W94 f6 F1 g gematae stftreRor (%he),

qem Wit g SgH h T wifd H# wE
YR G FEASY L Tehal 2 o T8 fiag Hgem
¥ foru orcfes ® a1 sET @, Fefafga & @
fore A, WG o I=AH T GRT 38!
e Hr g oft 2

(a) T foRR sAm wRa &9

(b) R 3TEHE M I TG TSH

(c) UH. I AR FAH HId €Yl

(d) ¥R 89 S99 #ff 9 A

A)
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134.

135.
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‘A’ the Captain of a steam vessel, suddenly
and without any fault or negligence on his
part, finds himself in such a position ‘that,
before he can stop his vessel, he must
inevitably run down a boat ‘B’, with thirty
passengers on board, unless he changes the
course of his vessel and faces the risk to run
down boat ‘C’, with two passengers on board.
‘A’ altered his course to save passengers in
boat ‘B’ without any intention to run down the
boat ‘C’ and in good faith. In the process of
altering his course, he runs down boat ‘C’
with 2 passengers. In this case, ‘A’ can be
held guilty of which one of the offences given
below ?

(a)
(b)

Causing death by rash and negligent act

murder
Murder
Not guilty of any offence

(c)
(d)

Which of the following: Acts is/are not
applicable to Central Industrial Security
Force (CISF) ?

1.  The Payment of Wages Act, 1936

2.  The Industrial Disputes Act, 1947

3.  The Indian Penal Code, 1860

4, The Factories Act, 1948

Select the correct answer using the code given
below :

(a) 1,2 and 4 only
(b) 2,3 and 4 only
(¢) 1and4only

(d) 2only

Which one of the following pairs is not
correctly matched, as per the Central
Industrial Security Force Amendment Act,
1983 ?

(a)
(b)
(c)
(d)

Naik
Commandant
Constable

Assistant
Commandant

Senior Security Guard :
Chief Security Officer
Head Security Guard
Security Officer

Culpable homicide not amounting to |

136.

137.

138.

139.

(37-A)

For the purpose of inquiring into any offences
or trying offences specified under Section
18(1) of the Central Industrial Security Force
Act, every officer holding the rank of
Commandant or equivalent, shall exercise the
powers of a ;

(a) Magistrate of the First Class.
(b) Magistrate of the Second Class.
(c) Sessions Judge.

(d) "Additional Sessions Judge.

Which one of the following is not correct with ;
respect to the conditions of eligibility for
appointment to the CISF ?

(a) The person shall be a citizen of India

(b) The person shall have training in civil
defence

(¢c) The person shall bear a good moral
character :

(d) The person shall belong to such

categories of persons as may, from time
to time be declared by the Central
Government as being eligible for
appointment to the CISF

Which one of the following is not covered

under minor penalties imposed on a
Government servant ?

(a) Censure

(b) Withholding of promotion

(¢) Compulsory retirement

(d) Recovery of pecuniary loss

The question whether the Central

Administrative Tribunal could interfere with
penalty awarded by the competent authority
on the ground that it is excessive or
disproportionate to the misconduct proved,
was examined by the Supreme Court of India
in which one of the following cases ?

(a)

Excel Wear vs. Union of India

(b) Sagir Ahmad vs. State of Uttar Pradesh
(¢) L. Chandra Kumar vs. Union of India
(d)

Union of India vs. Shri Parma Nanda
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144.

145.
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frfafiaa § @ fRd 8w oiefe e &=
(eft.313. v\, . ) H qee geeH Hifa § e

() 3TaH Hr-Feue gifsed &6 & o
@i wofl gu SRl (SiEe SAThER)
% fau wApieel (Fefin) sk g@ fmiw
(¥ fafeem)

(d) §aa e qeareR

frafafgs & @ ®FT IgHEie  sowis
uftgy 8, fSmer s 1-bit () g=am =i
HeTia A & fo feman wmen @ 2

(a) T

(b) foeTa-wata

(c) HRH

(d) TREFAX

1 KB fertreh qaqed 8 2
(a) 1042 bytes
(b) 1023 bytes
(¢) 1021 bytes
(d) 1024 bytes

T Byte (W18e) # fohad bits (forem) wiem
foremm 8 2

() =2

b) 4
(c)#7:8
(d) - 416

NOT gate (T3 30 & ) | fohat $9ge @meA
formm 8 2

a2

ih)sk

(c)i =3

d 4

feam (Debugger) &1 2?

(a) WIFET

(b) TEIW

(¢) @FAT 3 B T TS
(d) 3IF | | B T

146.

147.

148.

149.

150.

(38—-A)

1001 AT 101 % = a3 TegawH (fgemurd
Seehei) T THOTH 1 8 2

(a) 1011

(b) 1001

(¢) 001

(d 100

fafafea & @ FR-@ Bea 0d ag
(ifos wfa i) + s @i H
fawfora < it v a8 2

(a) foges (Fmiesm)

(b) 9B (3fm)

(¢) favrem (Fmiesm)

(d) g (Fafum)

frafafaa & @ a1 T 309 wibe 787 8 2
(a) .93

(b) Sft.3T8.U%.

(¢) WM.

(@ wEdESt.

. wE.3./6mE.5. . 27001 WHs fras o
22 '
(a) FEAT GLET JEEH

fFh HYR Jead W @ @9 F fw
frafafea & @ fFa Wi &1 w=@m fen
ST 8 2

(a wWHAARTE

(b) THAAM.

(c) Qfﬁ.fl.tﬁ.

(@) ELu=dd.



140. Which one of the following is not included in
the Human Resource Policy of CISF ?
(a) Harmonious cadre management
(b) Departmental disciplinary actions
(c) Mentoring and team building for direct
officers to ensure optimal performance
(d Continuous performance appraisal
141. Which one of the following is a sequential
electronic circuit that is used to store 1-bit
information ?
(a) Register
(b) Flip-flop
(¢c) Counter
(d) Accumulator
142. 1 KB is equivalent to :
(a) 1042 bytes.
(b) 1023 bytes.
(¢c) 1021 bytes.
(d) 1024 bytes.
143. How many bits combination is present in a
Byte ?
ka) -2
(b) 4
© 8
(d 16
144. How many input lines are there in the
NOT gate ?
(a)e2
(b)) 1
%) .3
d 4
145. Debuggerisa:
(a) Software.
(b) Hardware.
(¢) Combination of sb&ware and hardware.
(d) None of the above
KLFG-U-VBY

146.

147.

148.

149.

150.

(39-A)

The result of binary subtraction between
1001 and 101 is :

(a) 1011
(b) 1001
(¢) 001
(d) 100

Which one of the following is a technique of
dividing the physical memory space into
multiple blocks ?

(a)
(b)
(c)
(d)

Fragmentation
Paging
Segmentation
Swapping

Which one of the following is not a raster
image format ?

(a) JPEG
(b) GIF
(c) PNG
(d SVG

The ‘ISO/IEC 27001 Standard is for :
(a)
(b)
(©)
(d

Information Security Management.
Quality Management.
Risk Management.

Environmental Management.

Which one of the following protocols is used
for secure communication over a computer
network ?

(a) HTTPS
(b) HTTP
()i HDP
(d) DHCP
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